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Kidnapping will prove — 11920 Wi 1A%

OVERVIEW

ITYOR " maintains that the ' '7 21°1 by 1921 213 is only if the 7% was after X, in
which case it was Pwyn K, just as by 7w it is Pwyn uaxk.! However, 1ame '
challenges X"7 and asks but we see by w51 2113 that there is no ¥X> and no 117X
wyn and nevertheless he is (7in°%) 21, so perhaps by 72m1 213, there is also no
requirement of YIX> and 1wyn 11AX. Our N1BOIN discusses this 17°31N.

nooIn asks:
= NNAVY YPNR NDT INY Y92 N2 9NN ON)

And if you will say; kidnapping is different from 77°0n, since kidnapping was

not likened to 7192w, however 771°31 which is 7m2v% wpnex (for they are written next to each
other in the ?109) requires 1wy» 137X and (therefore) WX°.

N1B0IN answers:
- AN%20N NY 9995 RYIPIN N9 NIN *NN2anY YRR Y 33 NINT 9119 U9

And one can say that 77°2» was also not wpnoR to 72w, but rather X" derived

77701 from 7793w through a ax 113 -
$1199910 19919 99917 19 5PN NATTINT 1IN 229 9INRP 2977

So therefore >''1 stated; on the contrary we should derive a case of 719°% (by an
animal) from a case of 179927 (by a person), rather than deriving 772 from 77°20.

SUMMARY
The inference from 7171°2v to 777727 was not based on a wpr.

THINKING IT OVER
Which is more similar; 77°0n of a person and 77°27 of an animal, or 7721 of an
animal and 77°2v of an animal?

" See ‘Overview’ to the previous two nooMN.

> A wpn is used to derive a ruling from one case to another case. Here by 772m1 imPaw we are not deriving a law
from 71772V to 7707, but rather we ascertaining (in a roundabout way) under what circumstances did the 717" take
place. We do not need a wp i1 to accomplish this. We simply say that the circumstance of 77720 (where 1wy» 117R)
applies to 772n. To which > argues that the circumstances of 77°37 should rather be derived from another case of
77701, but not from 1°av. See ‘Thinking it over’.
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